H U B E X 2 & B K

NESEE_ s § 2 P % (F) LHRAYH eRtmene BERn
ME 4 2% 2 N o2 # ¢ EE_ HE AENE [S8%] NS

0%
7 s smws s NRBRREAE  MERRAE ERE Lo

1

1-1 L dr =
{ ]JHEHI}E[IE+1}

() 3r/2 (b) (Br-2}/¢ (¢ (z-2)/8 (&) 25/8 (&) 8

() nomne of the above.

~1/0%)
- e s={ T )
0 0
(@) 2 {b) 1 () 2/3 (&) 0 (& -1

(f) none of the above.

(1-8) Let Fg) = (" —5/D lim Rz =

s | |
@ €' ) ¢ (g e @ & (g ¢

(£} nome of the above.

10
{14} [y]is defined 10 be the greatess integer ¢ y. [2/3] dz =
a

(8) 1B (W) 12 () 1 (@ B () 3

{f) none of the above.
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{1—5) The relative maximum point of f(z, 7) = 2 + yﬂ —3z— 12y + 20 is

()} (-2 () (L-2) (¢) (-1.2) (& (1,2} (g (0,0)

(f) none of the above.

{i-6) F and G are two funciions. We will write
) = 0(G(a))

if there exigt & constant K and an integer N, such that
|F(z}| < K|G{z)| forall £> N.
Let [ ] be the greatest—integer function and f(z) = 1,000,0008" + 2°, f(2) =

[=]'/ ID[I], L) = [1.1}[31, (2 = IUQUﬂﬂ_ Which of the following statements

16 tre?

(® 4@=00=) () LB=0{E) (9 L2 =04z

{d) f(@) = O(4(a)} (e) Lz} = O(f (=)} (f) none of the above.

. o p L 4+ YT 4 L. 4350
{1 T] Ili]::{ x(a'.ﬂj }"‘

@ 1 () 2 (9 VI-12 (@ FWI-L (¢ 2/2-1

(f} none of the above.

o ] k!
(1—8) The domain of convergence of the series: X (U {z-1) i8
n=1 27(3n-1)

(a) —l<z<d (b)) —1<z<2 (e) —1gz2¢1 (d) all 240

{(e) x>0 (f) none of the above.
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(1) The series ilii%)_—rm iz (a) divergent. (b) absolutely convergent.

(¢} conditionally convergent. (d) comvergent but it is not absolutely convergent.

(&) aconvergent aliernating serles.  (f) none of the sbove.

T2
} ef fx — exf4 + z 1t gy
:_'ﬂ_fjﬂ l + coslz

(a) w2 (M wfe (¢} efr (&) 2&fr (e) efix

(f} mone of the above.

. !_' 0
B ]
} , =10

(2—-1) Is f{z) continuons on {-w, w}?
(2—2} Does f{z) have a derivative ai z= 07

( You shonld give the reasons for your answera. }
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3.
{3-1). | f_’f if x £ 3
Let f£{x} =
5 if x = 3
Iz fi(x} i= continuocus an [=e, =]
If "Not", give the reason.
(3—2}. )
tan(=sin x) .
2I o if gin & 2 O
Let f£i{x) =
1 if gin x = 0
Ia fix) i3 continuous on (o, =)
If "Not™, give the reason,
{3-3). Pind the sclution of xy" = 2y

4. Integrate I% " (1-x) "dx

HEE'
i 2
5. Integrate Iﬂ e dx




